BEAD GEXEF - BTT )

Sf5F3A 18
b 1 X % # F O A | 5 7T

B 7 B o X 6,646 13,211 6,880 6,331

X B # K 1,194 2,882 1,414 1,468

£ F # K 548 1,422 712 710

N RO K qq | 2,634 1,337 1,297

Bl %&£ # K 6,938 14,897 7,278 7,619

Nn |’ R # X 1,309 3,142 1,539 1,603

ik x M # K 1,052 2,480 1,222 1,258

it & & # K 7,879 18,687 8,965 9,722

BE o M o X 6,364 16,069 8,030 8,039

& 5 32,921 75,424 37,377 38,047
2f5%F3A 18

Hw K & B T 4 tH#H B | A 0 B £°3

BE 7 U X BETEIATA 4,456 9,192 4,611 4,581
¥ P 177 334 183 151

® B 418 825 426 399

£ L o H 733 1,311 822 489

g R H 304 519 279 240

% BT 558 1,030 559 471

o ORX 3 6,646 13,211 6,880 6,331

N E # X = B 86 210 104 106
X & 829 1,978 q71 1,007

g % 142 356 172 | 84

+ K 18 #r 8 137 338 167 171

A - S 1,194 2,882 1,414 1,468

& P # X ® B H 139 354 183 171
& fF 16 37 15 22

¥ @\ H 126 399 190 209

& & H a5 223 106 117

R HT 103 248 136 112

K 3§ H 69 161 82 79

H X3 548 1,422 712 710

N R O X N R H] | 80 414 209 205
BN R H 141 387 196 191

7 PR HT 32 76 36 40

B R ¥ 462 1,315 677 638

g B 65 178 86 q2

2 1] 1] 264 133 131

H X3 qq | 2,634 1,337 1,297
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BEAD GBXF - BT T35

Sf5F3A 18
i K % Bq T 4% #HF B | A = B -8
Bl % i X Bl K 637 1,535 742 793
F9 & %7 B 8T | 2 2 0
A i HT | 64 416 200 216
m v B 732 1,651 802 849
& % 6 939 2,175 1,008 1,167
Bl % ] q8 391 |54 237
= & 1,921 3,942 1,980 1,962
EZEE | TB 227 414 210 204
B 2TB8B 429 859 420 439
8 3 T8 479 804 402 402
8 4 TB 718 1,373 698 675
M M H I 29 17 12
NGB OFE S HT 4217 gl 45| 460
FE EC & %7 E 0T 16 42 17 25
N wE o ET 139 353 175 178
o X 6,938 14,897 7,278 7,619
IR K3t B R AR ET 1,309 3,142 1,539 1,603
#H X3 1,309 3,142 1,539 1,603
it XX R i X & ¢ € 75 231 1 20 |1
& ¢ ¥ @ ] 62 152 74 78
A Bk OE T 105 252 118 | 34
g @\ 62 | 46 74 72
it # H 74 199 qq 100
N OB 31 86 44 42
& ‘A 66 185 94 ql
X B 6 16 7 q
e | TH 94 188 10| 87
EmNE2TAH ql 205 q4 |11
ENaE3TAH 106 209 102 107
e 4 TH 136 310 148 162
BArES5TEH 55 120 58 62
BArE6TEH 89 181 89 q2
A - G- 1,052 2,480 1,222 1,258
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EEAD (X3 - BTT 5)
Sf5%F38 1 B
H B % Bq T 4% #HF B | A = B -8
LtES®RE | EWw I TH 185 404 194 210
£EWL2TBH 195 450 209 24 |
£WL3TBH 179 401 206 195
£ 4 TBH 333 883 389 494
£WL5TAH 272 618 291 327
fFWL6TRH 282 684 348 336
£WL 7 T8 235 576 282 294
£WL 8 TBH 278 617 310 307
WwE | TB 436 939 436 503
WE2TEB 131 337 162 175
WmWE3ITBH 231 518 268 250
WwWE 4 TB 155 363 175 188
WES5TEBE 246 576 277 299
WmwE6TBH 265 626 294 332
NS T B 28 65 33 32
N2 T B 349 gl 453 458
N3 T B 180 402 208 194
NS4 T B 558 1,183 537 646
&1 TH 202 482 239 243
& 2T7TEH 231 575 276 299
&3 T7TEH 138 328 173 155
& 4T7TH 264 685 328 357
&5 T7H 191 444 195 249
BARE | TH 195 494 24 | 253
BRE2TH 210 577 279 298
vHRE3ITHE 71 191 94 q7
BARE4TH 202 455 215 240
PHRESTH 289 771 355 416
Afk& | TH 160 407 202 205
A& 2TH 170 415 206 209
A& 3TH 343 81| 399 412
AfR&4TH 675 1,499 69 | 808
# X E 7,879 18,687 8,965 9,722
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BEAD GBXF - BT T35

Sf5F3A 18
w K A& /T T % # wF A o B 7T
Ry MR | @yl TH 166 767 505 262
BT E2TH 165 417 212 205
By aE3TH 202 477 242 235
o BE4TH 276 751 358 393
o ES5TH 347 845 388 457
By R 6TH 322 q19 467 452
By ETTBE 415 1,139 587 552
W/ NI TE 286 711 332 379
W/ N2TH 228 572 276 296
W/ N3TH 367 qq | 480 511
W/ N4TH 299 776 380 396
W/ N5TH 280 723 357 366
wr e TH 519 1,121 565 556
WrE2TH 444 990 485 505
wrE3TH 352 1,015 511 504
WwWrE4TH 325 538 270 268
B¥ | TB 278 729 367 362
B¥2TBH 442 1,037 522 515
BR3TAH 304 754 377 377
B¥ 4 T8 329 613 294 319
wE | TH | 138 33 105
v B 3 TH |7 46 22 24
#H K3 6,364 16,069 8,030 8,039
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